LR

['27 701nn 7w Nia'n1nn (1220 NO'ON ['2 W7 D7 DXD
72 17¥ NIAXD N7'0'7190 NO'ONI TAIWVN ¢ NIAYINAN NN
NAX ["IX7 YT NNan
VW2 [ V'NAXL,NT [N'IX . D'Yar

NX 091NN TAIY OXN ,0'20 D701 NIZ'oOYNN NIZRY 7Y NIY7 NNA IT 11'A0 NTIAY
[IAONN DX 091N 2XYND 17021 DX 091NN TAIY DX 2 I'7X 21NN NIND '0'719) [IARN
D'INYNA '97 [I2OXR7 TAIY 7Y NIYINNAN DTN DN NN NITNT [N DXL ? '0'719 NINDD

? D'n'Ion

17NN NiNyvun

[IAAXT? TAIYN NIAYAN TN 277N

NIA'NIN [1220 |'2 AN Wi Xxn' .1

7¢ NI2'INN NNN '27 NaXyn

TAIvN “ NINWn

1220 "2 '"7'7w YWUp R¥n' .2
nNT 'A% NaxXynn NiaNInNn _ 4 219 Va7
05NN NIIAIXN NP'07I9N
NO'ON A '77W W R¥N' .3 | 0417 **0.459 (X1) 2¥Ynd A'NINN NO'ON
NI'INN |27 NIIAXRD NR'0Y19N
\ JIAANT? TAIVN J
-0.262 -"0.44 NN NRP'0'719 NO'ON
/n'w 35 ,0'7121 60 1I9NNWN T7NNn2 0.138 0.017 (X3) 71a

41.7%) naa 25-1 (Daminn 58.3%)
NI D'NDYN 09N .(DATANN | * p<0.05 ** p<0.01  YTiNN D'
X170 10N D'7OYIN D' TAIN DNAY | F (4,55) = 7.086 ** R* =0.292
niTvont (18.3%) njrvo a7 ,(31.7%)
7V nny7 iwpann o'pTn .(10%)
NN NYI7Y 7Y DIIA'NN 2INY [I7RY
NIXYNAN NIA'NINAN [I7KY - DI7RY
NIAX NINN 178 ,MLQ 0'9'9)7

\ DX NP'0'719 NO'ON ||'my nD'NYNN

/mnn T 7V 17721 NNYYNN NYI7Y

Y=4.219 +0.459X1 - 0.44X2 + 0.01/X3

IN' D 12'7'2 )07 QOMLIYWYINI [I0N'D

/osmw 7011 D |'NAN7 [N pnnn nmxm} D'INYN N2 N'0NAN [NAN '97 NITN7?
NX I'TAIY 7¥X 1'22aN0 2AXYN A'Nand I'Taly 2'va TAIY 7W NIAYINN NNY N'AN NN
NO'SN NN N'NONI [IAIXR7 NI INAN NYINND A'NINN NO'SN DINWNN '97 [IANN7

' NJIN ,7)27 q0I .DN7W NIIARN NR'0'719N NN NR'0719N NO'SNI ,AXYND
NI NN NIARN NP'0Y7190 NO'ONY 72D NNINN NIA'NINN [1220 NO'ON?

NX PTNN PNNN .[IAX? DI2INAN DN9N D \ MT'N7 AN N'NIYNYNn

\ NV 0'TIZN DNZNNAN INXW




